-~

[} ~
N V2 Lﬁ(;&hj - ‘\‘M:,p}/ eV, sveo/ _ WMo, L)

IS (o ) Juaadl SR
lsla : G %g,\ Y a5 plaal-ailualy, dadd) |

S===5 .
2012/12/ 30 1 == 216-, e Jualis Bl

el 1) padd — aglal) Al

da e 80 A 4a s Y ALy ool
N ) )
f(x,y)=~/x2 +y2 =1 +In9 - x* —y?) A0 Jlaadl babds an )l (1)
2
lim —2 (oms o) A1 Al Caal ()

xy)->00x* +y?

AN ) ud)
X4 £ 8
z:x2+y2—7 gl (5 seal w354 (1)
2 2
Bk X"+ .
Xu, +yu, =1 o) cadild u:ln( X+§ j oS 3 (<)

R:{(x,y):Ostl, OSySn} TN ”ycos(xy)dA cual ()

Gl ) ad)
sliaially 33 gaall A3kl & R G ”(x2 +y2)dxdy SN (\)
R

) J)M‘slciu‘)ﬂj x1-y*=2 , x*-y*=4, =xy=1, xy=5

.B= {(x,y,z):x2 +y?+2z° :1} dua “‘ e("”yz“z’%dv caal ()
B

)Y () )

gagd 2z’ =x2 +y? byad e eall 4 S G Ixzzds ()
S

z=1, z=3 usuwad o
<§3x2ydx+4y3xdy tebal JalSall Ciluald o sa ket padiid ()

y=5x, y=x>  rclisidy spedl Gl gad a C us
y=0, y=v9—x? : hpll 3ldl il o du?ydx—2xpdy sl (g)




\ w\D, ) e
Y el il . g bl = ot 2
gV gl ol Jd] é{ G ged
Olslu 1 o I W& slax+OLpl ) 1l pll
2013/1/2 : goyWl == sl 2 5k 5
2l I d = gl &S 2471, &g W & Letdia 135U

23.;9‘ M:ﬂ\ U‘G wf

g =T as ol 1) 6 bl g3 ae plai (6l o JUSYL e Randll Blas Of <1 (1)
(o ,27) S U 3 X g doyl & L
(i) (12‘2'125)10 =(X)z (ﬂ) (149‘5)10 - (X)s (111) (3072'625)10 - (X)ls
(anld pUadl (3 Bl aanll ol o] oy il o3 ) L LS (3 X 3ad ase il (2)
(i) (110110.101),-(100101.1001), = (X),q (22 8)
(i) (74.5)gx(5.7)g =(X)so
(iii) (2BB. F8 .- (2D.B5), . =(X);,
(iv) (e421. 54)8 (731.44)g = (X)g
(v) (7B.A3),q +(2B.F4) s - (X)g

3 N sdall gl (soaad) pazel) U1 g3l ol of el ¢l sual =l e (1)
(C)L”ﬁ 4) s L},l.,aij\ sdall sy b oLl (63 (300 (\,B_S
;U sal) o) plaszalyy 31 20l sl plisizaly 2591 = el llas @b w51 (2)
(1) (34)10= ()0 (=02 6)
(ii) (4302), —(3104),
(ﬂi) (A4F5)IG —(DZS)le
<l 4 5) Jaaelaa szs-fj Wole B> 93 Ad> 346 5,40 &—(25.375)10 saall Ju (3)

IR T VO 1

:d Y gt

3w J1 gl

, ““



& Ji g
o b ST Ll Bl o s ¢ gt G by Wnatlan ool T30y a1k Ge (1)
J—t G 3 12U, STy € ol 5 Lk 587 W Lzl (3 31 e (Mo) e of (Ma)

(QL}J) 9) LAell oda
e i jadt 5% Ly M gl L 8 Cos adl U, STy - o (2)
(o,56) G SUl=s] o sLgsWl e N lasdey X[, X, 0%,y

M:izn:x. S‘Z:i Zn:yc.z-wmz .
Wizl = N ="
2@1)1 d\}.Ji

(-, 6) U 2 Lk Cot 2o 262 STy o o (1)

x%._5, xa]
f(X)=1{x*—cosx, x=1
3 ) - >

(QLz-JJ 9) X" +3sin” x—-1, x>1

#include <iostream.h> det ey Sl b s e (2)

int main() { sl bl 5o 02 ol Pl i amy

int N; double Sum=9.0; int f-1; el ol B des dele el

cout<<'Enter N="; cin>> N; ey

for(int i=1, i<=N, 1++); o i

{ oAl Ol dory ;ww@@w
foi sl e N=9 <
Sum-(1.0/f); Final factorial =91= - 30336

} S L -] S cas”

Cout<<"Final factorial-"<<N<<"t="<<f<<endl;

cout<<"FInal Sum-"<<Sum<<end],

g}d\.&?f.\.&fb“/: ¢ sy Oledd) ;,.:b\co




~

. (i“{iif C\(.«,/ ) ’,f‘; AP G ATEe y" Ny
D, A0 V
Yorry sl sl &F G 1 gieaal)
Lie L 1 a3 q‘\/\ L)
Ol Juss ' il agle g plaal & cladly TR
“
AERR Y AVAIE BN | IEETTS I SPPR A B (V) 22 YAY oy Sall

Ay Ay oo ol

) AN e al

ALt A gene 0 AB Ofs (i seae 5Y A-B=ANB ¢ o iy eLadll s pasid ([1]
i
CabeZ J< apboab>0 b LS p Al ile e Z damall JaeY) de sene o (<

p A g g aas

XA £ RAR} > RAB) ¢ sl 5 208 (—

S ) FIx) sl f(x) =

X..—

Ha=HbeableH : o @i Giye)oeHaisms0) Y (1 [2]
H=<15>,G=2}; 5a 3l il aY A ks s (<
53&&1.; L.SJJMJ‘} (p:Sn —-)(Zz,®) eu.u‘)]\ ).QQ‘ (.A

0, © even
(0) T (P Yo eS
) {1, o odd !

CUSLE @ b -Ker 3 sls p 3 ssasesp il ¢ of
s Legd 5 emaa A6V il Ll (6T (2
Paauld (5S4 Leid) (s G el e A8l el IS
60 = LZ6O <15 >_] (Y
.G 3e) (e a,b U< 0(a) = 0(bab™) (Y
HNOK<H o cile K9G cilSs G ie) o e 5e) H cals 13 (H[7]
(S3,0) £(Zg,®) =) il (0
A5 ey Liad 0 sS5 A0 538 50y (e A8l 8 5e 3l Y

o) =i"VneZ cu 0:(ZAH)—>(C,) Sy Kerg cusl (—
¢

dniiall Cala




) S5 g ebla Ll s amaa L s BV 38,55 8 &) <Ll J8[4]
- G=G' B 0(G)=0(G) s Y-
G iell (ea suaie (X a? = Loxic Lah g Jaid 3l Go a3l Y

—alie Y(@*b)*(c*d)=[d*c)*a]*b b G s w) o Adluly A sy dddee * culS 1Y -V
a,b,c,deG

9:G > G sl sesash (—ub‘ﬁj Kerp< G —¢

Ay a5 e Liad (oS8 2 105 53 (30 A adl 830 O

S S S S (Zfi) ) ol Pl g e s e ST
Z[i]={a+ib:a,beZ,i=«/—_1}

Al 5 (Z5.8) —V

H<G ol [G:H]=2 o1y -A

£l el bl g




W\ / AP N e W Ie L]

Forr i |l - | (1) £) Llalis e : 5l
olislu : o f (sl pglo g slan] + cludly)) 4;-’1:1-“ GM" \
Q‘\/\ M el e 3 ) Balall M
&=
il ) and — o glal) 418

LAl AL oo al

:d9¥) Jisudl

Al Al cialeall Ja aa gl

pZ —Y+2PX = 0 (l (10marks)
(D?> + 25)y = xsin(5x)+15 (i (10marks)
¢ e
. L@.«.uﬁ & Lalatl AUl &) jlwall A gaa ) C&:ﬂ (1 (10marks)
. : . £* x°
coAalL A ) g le Bliall g Gl gt a, b Ol e =5 " m = L

y'+y = cot(x) Adalidldbaldasag (i (10marks)

: B g |

- Adlil) Lol calaal) Ja aa gl

[ sin"1y]® [x3-6x%+11x-6]dy ++/1— y2 dx = 0 (i (10marks)
| y=X cot(-z) ]dy + y cot (?) dx =0 (ii (10matks)

s &l g

- datll) Alaldnl) aValaall Ja aa gl

(x y, -1 ) ln(x) = 2y (i (10marks)

% (xZ y3 +xy) =1 (ii (10marks)




1 "\l U Lee 7
e | o) 5% 2o C Wl - Ul D
Ca \\;:’("\‘d, ,L-Q;)\.’t"
Jan. 2013 ~ » Mans. Univ.
Time: 2 hours g{ v Faculty of Science
Final Exam. "\/\q > Dept. Math.
Data: 13/1/2013 i iy Introduction of Logic
Gl ) s — o glal) A

Answer the following questions Total: 80 Marks (every question 20 Marks)

[1]-1) Write the contra positive of the following statements:
a) An integer is even only if it is divisible by 2.

b) If x is negative and x% = 4, thenx=-2.

ii) Show that: two compound statements A and B are logically equivalent iff
the compound statement A <> B is a tautology.

[2]-1) Write the negation of the following statements:
a) There exists a boy who is not good .
b) John does love Mary, but Mary does not love John.

i) Show that: If n? is even, then n is even.

[3]-1) Find a disjunctive normal form for the given Boolean function: |
P(x,y,z)=(xvVy)A(xVvyvVvz)

i) Determine whether or not the following argument is valid:
(pA~q)—r
pA~T

q

[4]-1) Design a logic circuit that inputs the value of three variables x,y and
zandoutputa 1 iff x<y, x#z.

i1) What's the meaning of inclusive or and exclusive or.
Write the truth table of each or.
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